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The disco lights were flashing and
the music was blaring at the Halloween disco!

Everyone had made a special effort with their

Halloween costumes and it was time to find out which y
one had been voted the best. 9/ O

Solve the clues to find out who had the winning Halloween costume.
Good luck!
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Name Age Class Accessory Costume Style
Oscar 9 1 broomstick | skeleton homemade
Layla 9 3 cape ghost homemade
Ruben 6 2 broomstick | skeleton shop-bought
Grace 8 4 broomstick ghost homemade
Ben 7 1 hat witch homemade
Freya 6 2 wand ghost homemade
Harris 6 3 wig witch shop-bought
Aisha 7 2 broomstick ghost homemade
Amrit 8 1 wand ghost homemade
Yan 6 2 broomstick | zombie shop-bought
Noah 9 2 wig ghost homemade
Ranjit 7 2 hat zombie homemade
George 9 3 broomstick ghost homemade
Louise 6 4 mask pumpkin homemade
Cheng 9 1 broomstick ghost homemade
Henry 7 1 mask pumpkin shop-bought
Magda 6 2 mask ghost homemade
Tomek 6 4 wig ghost homemade
Amena 8 3 hat witch shop bought
Kasia 6 1 broomstick | pumpkin homemade
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The Mystery of the Winning Halloween Costume

Shade the correct value of the digit underlined in each row.

The column with the most shaded answers will reveal
whether the child who had the winning Halloween
costume wore a homemade or shop-bought one.

\\

17 70 7
12 1 10
24 20 2
56 6 60
80 80 8
54 5 50
93 9 90
38 30 3
74 40 4
63 6 60
48 40 4
9 90 9
shop-bought homemade
Clue 1: The child who had the winning Halloween costume wore a J
one.
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The Mystery of the Winning Halloween Costume

Shade the incorrect number in each row.
The column with the most shaded numbers in will reveal
L’mformation about the winning Halloween costume.
10 12 15 16
12 15 18 20 24
15 16 25 30 35
40 50 51 70 80
23 22 20 18 16
27 24 21 18 17
i 40 35 30 25
100 90 18 70 60
witch pumpkin ghost skeleton zombie

Clue 2: The child who had the winning Halloween costume wore a
costume.
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The Mystery of the Winning Halloween Costume

Clue 3: Count in Tens

Write the correct numbers on the number lines using the
table below. Cross out the numbers you use. The number not
crossed out in the table will reveal a clue about which

T T
8 18 28 38 48 68 78 88 98 108
y
B
| 0
15 25 45 55 65 75 85 95 105 115
y
B
1 0T
3 13 23 33 43 53 63 73 83 93
y
B
| 0
111 101 81 71 61 51 41 31 21 11
y
B
0 |
106 96 86 76 66 56 46 36 16 6
y
Class 1 or 2 Class 3 or 4
91 45 103 35 26 58

Clue 3: The child who had the winning Halloween costume is
in
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The Mystery of the Winning Halloween Costume

Clue 4: Compare the Numbers

| winning Halloween costume.

Identify whether each statement is true or false and
tick the correct column. The column with the most ticks in
will reveal a clue about the age of the child who had the

56 > 65
67 = sixty-seven
31 > 13
78 < 77
eighty-six = 86

ninety-one > ninety-two

seventeen > Sixteen

ninety-nine > 100

44 < 45

6or7

8or9

competition is

Clue &4: The age of the child who had the winning Halloween costume
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The Mystery of the Winning Halloween Costume
Clue 5: Read and Write Numbers to 100

Match the numerals and words.
The word that is not matched to a numeral will reveal a
clue about which accessory used by the child who had the
| winning Halloween costume.
r A
( thirty-eight
31
wand
. y
( ) sixty-nine
96 mask
\ < ( thirty-one )
r A
hat
38
L ) thirteen
r N broomstick
1 fifty-one
\ J Wig
r A
69 ( ninety-six )
) cape

Clue 5: The child who had the winning Halloween costume used a

— \ [

The child who had the winning Halloween costume was

AR
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